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Calculating a 1" NPT threading cycle for an external thread
1. Look up the Pitch diameter at the beginning of the thread on table 3.
     For the 1" NPT thread this is 1.214"

2. Calculate the Ending location in X  at the face of the part, subtract twice  
     the height of the of the thread.  This is found on table 1 under 11.5 
     threads per inch.  1.214 - (2 x .064 = .128") = 1.086"

3. The taper per foot on the diameter for a pipe thread is .75".  The amount 
     of taper to add to the threading cycle for .2" clearance to start is:
     .75 x (.2 / 12) = .0167".    
     The starting point for X will be 1.214 - .0167 = 1.1973
     The ending point in X will be 1.086 - .0167 = 1.0693

4. The length of thread for a 1" NPT is shown as .9845" on table 3 
     continued.  The total length of travel in Z will be this plus .2
     .9845" + .2" = 1.1845"

5. Calculate the amount of A by using the total travel in Z and the taper per 
     foot on the diameter.
     .75 x (1.1845 / 12) = .074"

6. Generate your threading cycle:
     X 1.1973 Z.2  (SEE NOTE 1)
     G33 X1.0693 Z-.9845 I.03 K .087 A.074 C  (SEE NOTE 2)

Total Z stroke

Note 1: The starting location in X can be adjusted to take a good size pass, 
adjust as needed
Note 2: Adjust the length in Z for total length really required.  Be sure to 
adjust the A value as well.








